

DEGENERATE BERNOULLI NUMBERS AND POLYNOMIALS ASSOCIATED WITH DEGENERATE HERMITE POLYNOMIALS

HIBA HAROON AND WASEEM AHMAD KHAN

ABSTRACT. The article is themed to classify new (fully) degenerate Hermite-Bernoulli polynomials with formulation in terms of p -adic fermionic integrals on \mathbb{Z}_p . The entire paper is designed to illustrate new properties in association with Daehee polynomials in a consolidated and generalized form.

1. Introduction

Fix a number p (say prime). We begin by regarding $\mathbb{Z}_p, \mathbb{Q}_p, \mathbb{C}_p$ as the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p , respectively. The normalized p -adic is given by $|p|_p = \frac{1}{p}$. Let $\bigcup D(\mathbb{Z}_p)$ be the space of (uniformly) differentiable function on \mathbb{Z}_p . Then the p -adic invariant integral on \mathbb{Z}_p (also known as Volkenborn integral on \mathbb{Z}_p) for any $f \in \bigcup D(\mathbb{Z}_p)$ is defined as (see [11–14]):

$$(1) \quad I_0(f) = \int_{\mathbb{Z}_p} f(y) d\mu_0(y) = \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(y).$$

The following equation implies from (1):

$$(2) \quad I_0(f_n) - I_0(f) = \sum_{a=0}^{n-1} \acute{f}(a), \quad (n \geq 1),$$

where $f_n(y) = f(y+n)$, (see [9, 11]).

Specifically, for $n = 1$ in (2), we have

$$(3) \quad I_0(f_1) - I_0(f) = \acute{f}(0).$$

Received May 23, 2017; Revised September 22, 2017; Accepted September 28, 2017.

2010 *Mathematics Subject Classification.* 11S80, 11B68, 05A30.

Key words and phrases. Hermite polynomials, degenerate Bernoulli polynomials, degenerate Hermite-Bernoulli polynomials, p -adic integral.

We recall the ordinary Bernoulli numbers B_n and the ordinary Bernoulli polynomials $B_n(x)$ obtained by the following Taylor series expansion (see [1–20]):

$$(4) \quad \frac{t}{e^t - 1} = \sum_{m=0}^{\infty} B_m \frac{t^m}{m!}, \quad (|t| < 2\pi)$$

and

$$(5) \quad \frac{t}{e^t - 1} e^{xt} = \sum_{m=0}^{\infty} B_m(x) \frac{t^m}{m!}, \quad (|t| < 2\pi),$$

respectively.

Here, B_m is the m^{th} Bernoulli number. Also, for every odd $k > 1$, it can be observed that $B_m = 0$. For each $m \in \mathbb{N}$, the explicit formula for the Bernoulli polynomial is

$$(6) \quad B_m(x) = \sum_{l=0}^m \binom{m}{l} B_l x^{m-l}.$$

It is noteworthy from (4) and (6) that

$$(7) \quad B_m(x) = d^{m-1} \sum_{a=0}^{d-1} B_m \left(\frac{a+x}{d} \right), \quad (d \in \mathbb{N}).$$

It was the efforts of Carlitz who created the idea of degenerate Bernoulli polynomials $\beta_m(\lambda, x)$ (see [2, 3]), generating function being formulated as:

$$(8) \quad \frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{m=0}^{\infty} \beta_m(\lambda, x) \frac{t^m}{m!}, \quad (\lambda \neq 0).$$

We generally write $\beta_m(\lambda)$ for $\beta_m(\lambda, 0)$, and mention the polynomials $\beta_m(\lambda)$ as degenerate Bernoulli numbers. For instance, $\beta_0(\lambda, x) = 1$, $\beta_1(\lambda, x) = x - \frac{1}{2} + \frac{1}{2}\lambda$, $\beta_2(\lambda, x) = x^2 - x + \frac{1}{6} - \frac{1}{6}\lambda^2, \dots$

Returning to the argument of p -adic integral, from (3), we can get

$$(9) \quad \int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_0(y) = \frac{t}{e^t - 1} e^{xt} = \sum_{m=0}^{\infty} B_m(x) \frac{t^m}{m!}.$$

Here, $B_m(x)$ refers to classical Bernoulli polynomials, (see [17, 18]).

Subsequently, Kim and Seo [14] proposed (fully) degenerate Bernoulli polynomials which are reformulated in terms of p -adic invariant integral defined on \mathbb{Z}_p :

$$(10) \quad \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+y}{\lambda}} d\mu_0(y) = \frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{m=0}^{\infty} B_m(x|\lambda) \frac{t^m}{m!},$$

where $\lambda \neq 0$. Since $(1+\lambda t)^{\frac{1}{\lambda}} \rightarrow e^t$ as λ approaches to 0, it is apparent that (10) descends to (9).

Remember that Kim's degenerate Bernoulli polynomials slightly vary from the Carlitz's degenerate Bernoulli polynomials.

Further, (10) can also be written as

$$(11) \quad \sum_{m=0}^{\infty} \lambda^m \int_{\mathbb{Z}_p} \left(\frac{x+y}{\lambda} \right)_m d\mu_0(y) \frac{t^m}{m!} = \sum_{m=0}^{\infty} B_m(x|\lambda) \frac{t^m}{m!},$$

where $(z)_m = z(z-1)\cdots(z-m+1)$.

It can be found that

$$(12) \quad \left(\frac{x+y}{\lambda} \right)_m = \lambda^{-m} (x+y|\lambda)_m, \text{ (see [13])}$$

where $(z|\lambda)_m = z(z-\lambda)(z-2\lambda)\cdots(z-\lambda(m-1))$.

It is obtainable from (11) and (12) that

$$(13) \quad \int_{\mathbb{Z}_p} (x+y|\lambda)_m d\mu_0(y) = B_m(x|\lambda), \text{ (} m \geq 0 \text{)}.$$

Very recently, Khan [6] intensified the notion of degenerate Bernoulli polynomials $B_n(x|\lambda)$ to degenerate Hermite-Bernoulli polynomials (of second kind) ${}_H B_n(x, y|\lambda)$ computed as:

$$(14) \quad \frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} = \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!},$$

which is eventually an extended generalization of Carlitz's degenerate Bernoulli polynomials $\beta_n(x, \lambda)$ (see [3]) and 2-variable Kampé de Fériet generalization of Hermite polynomials $H_n(x, y)$ (see [1,4]). Further as $\lambda \rightarrow 0$ in (14), ${}_H B_n(x, y|\lambda)$ converts to ${}_H B_n(x, y)$ (Hermite-Bernoulli polynomials) formally given by Dattoli et al. [5, p. 386 (1.6)] as:

$$(15) \quad \left(\frac{t}{e^t - 1} \right) e^{xt+yt^2} = \sum_{m=0}^{\infty} {}_H B_m(x, y) \frac{t^m}{m!}.$$

Also, the Daehee polynomials are set forth by Kim et al. [10,15] as:

$$(16) \quad \frac{\log(1+t)^{\frac{1}{\lambda}}}{t} (1+t)^x = \sum_{m=0}^{\infty} D_m(x) \frac{t^m}{m!}.$$

When $x = 0$ in (16), $D_n = D_n(0)$ are the Daehee numbers.

A major theme of the present article is that the study of Bernoulli numbers, its varied generalizations and other consequential sequences can be made feasible with the help of degenerate Bernoulli polynomials. A new class of (fully) degenerate Hermite-Bernoulli polynomials are considered with formulation in terms of p -adic fermionic integrals on \mathbb{Z}_p . The entire paper is designed to illustrate new properties in association with Daehee numbers and polynomials.

2. Degenerate Hermite-Bernoulli polynomials and numbers

Consider, $\lambda, t \in \mathbb{C}_p$ and $|\lambda t|_p < p^{-\frac{1}{p-1}}$. With the viewpoint of (10) and (14), we can easily define:

$$(17) \quad \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) = \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ = \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!}.$$

For $y = 0$, (17) reduces to (10) and when $x = y = 0$ in (17), $B_n(\lambda) = {}_H B_n(0, 0|\lambda)$ are known as the degenerate Bernoulli numbers.

Mark that $\lim_{\lambda \rightarrow 0} {}_H B_n(x, y|\lambda) = {}_H B_n(x, y)$, (see [5, 6]).

Theorem 2.1. *We have, for $m \geq 0$*

$$(18) \quad {}_H B_m(x, y|\lambda) = \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \left(\frac{y}{\lambda}\right)_k \sum_{l=0}^{m-2k} S_1(m-2k, l) \lambda^{m-k-l} B_l(x) \frac{m!}{k!(m-2k)!}.$$

Here, $S_1(m, l)$ is the first kind stirling number [6].

Proof. From (17), we observe that

$$\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} = (1 + \lambda t^2)^{\frac{y}{\lambda}} \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1}{\lambda}} d\mu_0(x_1) \\ = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \lambda^m \int_{\mathbb{Z}_p} \left(\frac{x+x_1}{\lambda}\right)_m d\mu_0(x_1) \frac{t^m}{m!},$$

which on using (12), turns out to be

$$(19) \quad \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} (x+x_1|\lambda)_m d\mu_0(x_1) \frac{t^m}{m!}.$$

Now, by the definition of stirling number, we find

$$\int_{\mathbb{Z}_p} (x+x_1|\lambda)_m d\mu_0(x_1) = \lambda^m \sum_{l=0}^m S_1(m, l) \int_{\mathbb{Z}_p} (x+x_1)^l d\mu_0(x_1) \lambda^{-l} \\ (20) \quad = \sum_{l=0}^m S_1(m, l) \lambda^{m-l} B_l(x).$$

Thus, by (19) and (20), we obtain

$$\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} B_l(x) \frac{t^m}{m!} \\ = \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda}\right)_k \lambda^k \frac{t^{2k}}{k!} \right) \left(\sum_{m=0}^{\infty} \sum_{l=0}^m S_1(m, l) \lambda^{m-l} B_l(x) \frac{t^m}{m!} \right),$$

$$\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} = \sum_{m=0}^{\infty} \left(\sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \left(\frac{y}{\lambda} \right)_k \sum_{l=0}^{m-2k} S_1(m-2k, l) \lambda^{m-k-l} \right. \\ \left. \times B_l(x) \frac{m!}{k!(m-2k)!} \right) \frac{t^m}{m!}.$$

Coefficients of identical powers of t on comparing, yields the expected result of Theorem 2.1. \square

Remark. $y = 0$ in Theorem 2.1, gives a familiar looking identity of Kim et al. [14, p. 1272 (Theorem 2.1)]:

Corollary 2.1. *We have, for $m \geq 0$*

$$B_m(x|\lambda) = \sum_{l=0}^m S_1(m, l) \lambda^{m-l} B_l(x).$$

Theorem 2.2. *We have, for $m \geq 0$*

(21)

$${}_H B_m(x, y|\lambda) = \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \lambda^k \left(\frac{y}{\lambda} \right)_k \sum_{l=0}^{m-2k} \binom{m-2k}{l} B_l(\lambda) (x|\lambda)_{m-l-2k} \frac{m!}{k!(m-2k)!}.$$

Proof. From (17), we have

$$\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} (x + x_1|\lambda)_m d\mu_0(x_1) \lambda^m \frac{t^m}{m!} \\ = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \lambda^m m! \int_{\mathbb{Z}_p} \left(\frac{x+x_1}{\lambda} \right)_m d\mu_0(x_1) \frac{t^m}{m!} \\ = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \lambda^m m! \sum_{l=0}^m \binom{m}{m-l} \int_{\mathbb{Z}_p} \left(\frac{x_1}{\lambda} \right)_l d\mu_0(x_1) \frac{t^m}{m!} \\ = (1 + \lambda t^2)^{\frac{y}{\lambda}} \sum_{m=0}^{\infty} \sum_{l=0}^m \binom{m}{m-l} \frac{\lambda^{m-l} m!}{l!} B_l(\lambda) \frac{t^m}{m!},$$

$$\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} = \sum_{m=0}^{\infty} \left(\sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \lambda^k \left(\frac{y}{\lambda} \right)_k \frac{t^{2k}}{k!} \right) \left(\sum_{l=0}^m \binom{m}{l} B_l(\lambda) (x|\lambda)_{m-l} \right) \frac{t^m}{m!},$$

Coefficients of identical powers of t on comparing, yields the expected result of Theorem 2.2. \square

Remark. With $y = 0$ in Theorem 2.2, a familiar looking identity of Kim et al. [14, p. 1273 (Theorem 2.2)] follows:

Corollary 2.2. *We have, for $m \geq 0$*

$$B_m(x|\lambda) = \sum_{l=0}^m \binom{m}{l} B_l(\lambda) (x|\lambda)_{m-l}.$$

Theorem 2.3. *We have, for $m \geq 0$*

$$(22) \quad {}_H B_m(x, y|\lambda) = m! \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} D_{m-2k}(\lambda, x) \left(\frac{y}{\lambda}\right)_k \frac{\lambda^k}{(m-2k)!k!},$$

where $\frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}-1}}(1+\lambda t)^{\frac{x}{\lambda}} = D_n(\lambda, x)$ is the λ -Daehee polynomial [16].

Proof. From (16) and (17), we evaluate that

$$\begin{aligned} \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} &= (1+\lambda t^2)^{\frac{y}{\lambda}} \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} d\mu_0(x_1) \\ &= \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda}\right)_k \lambda^k \frac{t^{2k}}{k!} \right) \left(\sum_{m=0}^{\infty} D_m(\lambda, x) \frac{t^m}{m!} \right) \\ &= \sum_{m=0}^{\infty} \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} D_{m-2k}(\lambda, x) \left(\frac{y}{\lambda}\right)_k \frac{\lambda^k t^m}{(m-2k)!k!}, \\ \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} &= \sum_{m=0}^{\infty} \left(m! \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} D_{m-2k}(\lambda, x) \left(\frac{y}{\lambda}\right)_k \frac{\lambda^k}{(m-2k)!k!} \right) \frac{t^m}{m!}. \end{aligned}$$

Coefficients of identical powers of t on comparing, yields the expected result of Theorem 2.3. \square

Theorem 2.4. *We have, for $m \geq 0$*

$$(23) \quad \begin{aligned} &\sum_{l=0}^m \binom{m}{l} \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{l+1} {}_H B_{m-l}(x, y|\lambda) \\ &= m! \sum_{l=0}^{m-2k} \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \binom{m-2k}{l} \left(\frac{x}{\lambda}\right)_{m-2k-l} \left(\frac{y}{\lambda}\right)_k \frac{\lambda^{m-k} D_l(0)}{(m-2k)!k!}. \end{aligned}$$

Proof. From (17), we notice that

$$(24) \quad \begin{aligned} &\log(1+\lambda t)^{\frac{1}{\lambda}} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \left((1+\lambda t)^{\frac{1}{\lambda}} - 1 \right) \left(\int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \right) \\ &= \left(\sum_{l=0}^{\infty} \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{(l+1)!} t^{l+1} \right) \left(\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} \right) \\ &= t \sum_{m=0}^{\infty} \left(\sum_{l=0}^m \binom{m}{l} \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{l+1} {}_H B_{m-l}(x, y|\lambda) \right) \frac{t^m}{m!}. \end{aligned}$$

Again using (17) and the special case of (16), we find that

$$\begin{aligned}
& \log(1 + \lambda t)^{\frac{1}{\lambda}} (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\
&= t \left(\frac{\log(1 + \lambda t)}{\lambda t} \right) (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\
(25) \quad &= t \left(\sum_{l=0}^{\infty} D_l(0) \frac{\lambda^l t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \binom{x}{\lambda}_m \lambda^m \frac{t^m}{m!} \right) \left(\sum_{k=0}^{\infty} \binom{y}{\lambda}_k \lambda^k \frac{t^{2k}}{k!} \right) \\
&= \sum_{m=0}^{\infty} \left(m! \sum_{l=0}^{m-2k} \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \binom{m-2k}{l} \frac{D_l(0) \lambda^{m-k}}{(m-2k)! k!} \binom{x}{\lambda}_{m-2k-l} \binom{y}{\lambda}_k \right) \frac{t^m}{m!}.
\end{aligned}$$

Therefore, from (24) and (25), the expected result of Theorem 2.4 is achieved. \square

Remark. $y = 0$ in Theorem 2.4, gives a familiar looking identity of Kim et al. [13, p. 907 (Theorem 2.1)].

Corollary 2.3. *We have, for $m \geq 0$*

$$\sum_{l=0}^m \binom{m}{l} \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{(l+1)!} \beta_{m-l, \lambda}(x) = \sum_{l=0}^m \binom{m}{l} \lambda^l (x|\lambda)_{m-l} D_l.$$

Theorem 2.5. *We have, for $m \geq 0$*

$$\begin{aligned}
& {}_H B_m(x+1, y|\lambda) - {}_H B_m(x, y|\lambda) \\
(26) \quad &= m \sum_{k=0}^{m-1} \sum_{l=0}^k \binom{m-1}{k} \binom{k}{l} H_{m-k-1}(x, y; \lambda) \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{l+1} D_{k-l},
\end{aligned}$$

where $H_m(x, y; \lambda)$ is the degenerate Hermite polynomial (see [6]).

Proof. From the p -adic integral (17), we evaluate

$$\begin{aligned}
(27) \quad & \sum_{m=0}^{\infty} {}_H B_m(x+1, y|\lambda) \frac{t^m}{m!} - \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} \\
&= \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+1+y}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\
&\quad - \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+y}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\
&= [(1 + \lambda t)^{\frac{1}{\lambda}} - 1] \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+y}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\
&= \left(\sum_{l=0}^{\infty} \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{(l+1)!} t^{l+1} \right) (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x_1) \\
(28) \quad &= t \left(\sum_{l=0}^{\infty} \frac{\left(\frac{1}{\lambda}\right)_{l+1}}{l+1} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} H_m(x, y; \lambda) \frac{t^m}{m!} \right) \left(\sum_{k=0}^{\infty} D_k \frac{t^k}{k!} \right).
\end{aligned}$$

Finally, the expected result of Theorem 2.5 is achieved on comparing the coefficients of $\frac{t^m}{m!}$ in (27) and (28). \square

Theorem 2.6. *We have, for $m \geq 0$*

$$(29) \quad {}_H B_{m+1}(x, y|\lambda) = \sum_{k=0}^{m+1} \binom{m+1}{k} \lambda^k D_k {}_H \beta_{m-k+1}(x, y|\lambda),$$

where ${}_H \beta_m(x, y|\lambda)$ is Carlitz's degenerate Hermite-Bernoulli polynomials.

Proof. From (17), it can be conveniently shown that

$$(30) \quad \begin{aligned} & \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ &= \frac{\log(1 + \lambda t)}{\lambda t} \frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ &= \left(\sum_{k=0}^{\infty} D_k \frac{(\lambda t)^k}{k!} \right) \left(\sum_{m=0}^{\infty} {}_H \beta_m(x, y|\lambda) \frac{t^m}{m!} \right) \\ &= \sum_{m=1}^{\infty} \left(\sum_{k=0}^m \binom{m}{k} \lambda^k D_k {}_H \beta_{m-k}(x, y|\lambda) \right) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{k=0}^{m+1} \binom{m+1}{k} \lambda^k D_k {}_H \beta_{m-k+1}(x, y|\lambda) \right) \frac{t^{m+1}}{(m+1)!} \\ &= t \sum_{m=0}^{\infty} \left(\sum_{k=0}^{m+1} \binom{m+1}{k} \lambda^k D_k \frac{{}_H \beta_{m-k+1}(x, y|\lambda)}{m+1} \right) \frac{t^m}{m!}. \end{aligned}$$

Again from (17), we can show

$$(31) \quad \begin{aligned} \frac{1}{t} \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} &= \frac{1}{t} \sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} \\ &= \frac{1}{t} \sum_{m=1}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} \\ &= \frac{1}{t} \sum_{m=0}^{\infty} {}_H B_{m+1}(x, y|\lambda) \frac{t^{m+1}}{(m+1)!} \\ &= \sum_{m=0}^{\infty} \frac{{}_H B_{m+1}(x, y|\lambda)}{m+1} \frac{t^m}{m!}. \end{aligned}$$

Ultimately, the expected result of Theorem 2.6 is achieved on comparing the coefficients of $\frac{t^m}{m!}$ in (30) and (31). \square

Remark. On setting $y = 0$ in Theorem 2.6, the corresponding corollary follows:

Corollary 2.4. *We have, for $m \geq 0$*

$$(32) \quad B_{m+1}(x|\lambda) = \sum_{k=0}^{m+1} \binom{m+1}{k} \lambda^k D_k \beta_{m-k+1}(x|\lambda).$$

Theorem 2.7. *For $d \in \mathbb{N}$, we state*

$${}_H B_m(x, y|\lambda) = d^{m-1} \sum_{a=0}^{d-1} {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right)$$

and

$$(33) \quad \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \frac{(y|\lambda)_k}{k!(m-2k)!} B_{m-2k}(x|\lambda) = d^{m-1} \sum_{a=0}^{d-1} {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right).$$

Proof. From (3) and (7), one can get

$$\begin{aligned} & \left((1+\lambda t)^{\frac{d}{\lambda}} - 1 \right) \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ &= \log(1+\lambda t)^{\frac{1}{\lambda}} \sum_{a=0}^{d-1} (1+\lambda t)^{\frac{x+a}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}}, \end{aligned}$$

$$\begin{aligned} \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) &= \frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} (1+\lambda t)^{\frac{x+a}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \frac{1}{d} \sum_{a=0}^{d-1} \sum_{m=0}^{\infty} d^m {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right) \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \left(d^{n-1} \sum_{a=0}^{d-1} {}_H B_n \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right) \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, from (17) we get

$$(34) \quad {}_H B_m(x, y|\lambda) = d^{m-1} \sum_{a=0}^{d-1} {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right),$$

On the other hand,

$$\begin{aligned} & \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ &= \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda} \right)_k \lambda^k \frac{t^{2k}}{k!} \right) \int_{\mathbb{Z}_p} \left(\frac{x+x_1}{\lambda} \right)_m d\mu_0(x_1) \lambda^m \\ &= \left(\sum_{k=0}^{\infty} (y|\lambda)_k \frac{t^{2k}}{k!} \right) \left(\sum_{m=0}^{\infty} B_m(x|\lambda) \frac{t^m}{m!} \right). \end{aligned}$$

Now, from (17), (34) and the preceding equation, the expected result of Theorem 2.7 is achieved. \square

Remark. $y = 0$ in Theorem 2.7, gives a familiar looking identity of Kim et al. [14, p. 1275 (Theorem 2.3)].

Corollary 2.5. For $d \in \mathbb{N}$, we state

$$B_m(x|\lambda) = d^{m-1} \sum_{a=0}^{d-1} B_m\left(\frac{a+x}{d} \mid \frac{\lambda}{d}\right).$$

Theorem 2.8. We have, for $m \geq 0$

$$(35) \quad {}_H\beta_m(x, y|\lambda) = \sum_{k=0}^m \binom{m}{k} b_k \lambda^k {}_H B_{m-k}(x, y|\lambda),$$

where b_k is the Binomial number of second kind.

Proof. From (17), we can show that

$$(36) \quad \begin{aligned} & \frac{\lambda t}{\log(1+\lambda t)} \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ &= \frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} = \sum_{m=0}^{\infty} {}_H\beta_m(x, y|\lambda) \frac{t^m}{m!}. \end{aligned}$$

We also attain

$$(37) \quad \begin{aligned} & \frac{\lambda t}{\log(1+\lambda t)} \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ &= \frac{\lambda t}{\log(1+\lambda t)} \frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \left(\sum_{k=0}^{\infty} b_k \lambda^k \frac{t^k}{k!} \right) \left(\sum_{m=0}^{\infty} {}_H B_m(x, y|\lambda) \frac{t^m}{m!} \right) \\ &= \sum_{m=0}^{\infty} \sum_{k=0}^m \binom{m}{k} b_k \lambda^k {}_H B_{m-k}(x, y|\lambda) \frac{t^m}{m!}. \end{aligned}$$

Now, comparing the coefficients of $\frac{t^m}{m!}$ in (36) and (37) gives the required theorem. \square

Remark. For $y = 0$ in Theorem 2.8, the corresponding corollary follows.

Corollary 2.6. We have, for $m \geq 0$

$$\beta_m(x|\lambda) = \sum_{k=0}^m \binom{m}{k} b_k \lambda^k B_{m-k}(x|\lambda).$$

3. Generalized degenerate Hermite-Bernoulli polynomials and numbers

Consider a Dirichlet character χ and the conductor d ($d \in \mathbb{N}$) associated with it ($d \equiv 1 \pmod{2}$). Let X be a subset of \mathbb{Q}_p , alike \mathbb{Z}_p , then

$$X = \lim_{\leftarrow N} (\mathbb{Z}/dp^N\mathbb{Z});$$

$$a + dp^N\mathbb{Z}_p = \{y \in X \mid y \equiv a \pmod{dp^N}\};$$

$$X^* = \bigcup_{0 < a < dp} (a + dp\mathbb{Z}_p).$$

If the sets are of the form $a + dp^N\mathbb{Z}_p$, then we usually take $0 \leq a < dp^N$. One is allowed to write

$$\int_X f(y) d\mu_0(y) = \int_{\mathbb{Z}_p} f(y) d\mu_0(y), \quad (f \in \cup D(\mathbb{Z}_p)).$$

Thus, we presently define the generalized version of degenerate Hermite-Bernoulli polynomials attached with χ in the form:

$$\begin{aligned} & \int_X \chi(x_1) (1 + \lambda t)^{\frac{x+x_1}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ (38) \quad &= \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} (-1)^a \chi(a) (1 + \lambda t)^{\frac{x+a}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ &= \sum_{n=0}^{\infty} {}_H B_{n,\chi}(x, y | \lambda) \frac{t^n}{n!}. \end{aligned}$$

For $y = 0$, ${}_H B_{n,\chi}(x, y | \lambda)$ reduces to $B_{n,\chi}(x | \lambda)$ defined by Kim [14] as:

$$\begin{aligned} (39) \quad \int_X \chi(x_1) (1 + \lambda t)^{\frac{x+x_1}{\lambda}} d\mu_0(x_1) &= \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} (1 + \lambda t)^{\frac{x+a}{\lambda}} \chi(a) \\ &= \sum_{m=0}^{\infty} B_{m,\chi}(x | \lambda) \frac{t^m}{m!}. \end{aligned}$$

On adjusting $x = y = 0$ in (38), $B_{n,\chi}(\lambda) = {}_H B_{n,\chi}(0, 0 | \lambda)$ are marked as the generalized degenerate Bernoulli numbers attached to χ .

Moreover, as $\lambda \rightarrow 0$, then

$$\begin{aligned} (40) \quad \int_X \chi(y) e^{(x+y)t} d\mu_0(y) &= \frac{t}{e^{dt} - 1} \sum_{a=0}^{d-1} \chi(a) e^{(a+x)t} \\ &= \sum_{m=0}^{\infty} B_{m,\chi}(x) \frac{t^m}{m!}. \quad (\text{see [12, 19]}) \end{aligned}$$

Theorem 3.1. *We have, for $m \geq 0$*

$$(41) \quad {}_H B_{m,\chi}(x, y|\lambda) = \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \left(\frac{y}{\lambda}\right)_k B_{m-2k,\chi}(x|\lambda) \frac{\lambda^{m-k} m!}{(m-2k)! k!}.$$

Proof. From (38), we evaluate

$$\begin{aligned} & \sum_{m=0}^{\infty} {}_H B_{m,\chi}(x, y|\lambda) \frac{t^m}{m!} \\ &= (1 + \lambda t^2)^{\frac{y}{\lambda}} \int_X \chi(x_1) (1 + \lambda t)^{\frac{x+x_1}{\lambda}} d\mu_0(x_1) \\ &= \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda}\right)_k \lambda^k \frac{t^{2k}}{k!} \right) \left(\sum_{m=0}^{\infty} \lambda^m \int_X \chi(x_1) \left(\frac{x+x_1}{\lambda}\right)_m d\mu_0(x_1) \frac{t^m}{m!} \right). \end{aligned}$$

Therefore, from (13) and (39), we deduce

$$\sum_{m=0}^{\infty} {}_H B_{m,\chi}(x, y|\lambda) \frac{t^m}{m!} = \left(\sum_{k=0}^{\infty} \lambda^k \left(\frac{y}{\lambda}\right)_k \frac{t^{2k}}{k!} \right) \left(\sum_{m=0}^{\infty} \lambda^m B_{m,\chi}(x|\lambda) \frac{t^m}{m!} \right).$$

Coefficients of $\frac{t^m}{m!}$ on comparison, provides the expected identity of Theorem 3.1. \square

Theorem 3.2. *Let $d \in \mathbb{N}$. We have, for $m \geq 0$*

$$(42) \quad {}_H B_{m,\chi}(x, y|\lambda) = d^{m-1} \sum_{a=0}^{d-1} (-1)^a \chi(a) {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right).$$

Proof. From (38), we have

$$\begin{aligned} & \sum_{m=0}^{\infty} {}_H B_{m,\chi}(x, y|\lambda) \frac{t^m}{m!} \\ &= \frac{1}{d} \frac{d}{\lambda} \frac{\log(1 + \lambda t)}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} (-1)^a \chi(a) (1 + \lambda t)^{\frac{d}{\lambda} \cdot \frac{x+a}{d}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ &= \sum_{m=0}^{\infty} \left(d^{m-1} \sum_{a=0}^{d-1} (-1)^a \chi(a) {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right) \right) \frac{t^m}{m!}. \end{aligned}$$

From (3), we have

$$\begin{aligned} & \int_X \chi(x_1) (1 + \lambda t)^{\frac{x+x_1}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \\ &= \frac{1}{\lambda} \frac{\log(1 + \lambda t)}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} (-1)^a (1 + \lambda t)^{\frac{x+a}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ &= \sum_{m=0}^{\infty} {}_H B_{m,\chi}(x, y|\lambda) \frac{t^m}{m!}. \end{aligned}$$

From the above two equations, we get

$${}_H B_{m,\chi}(x, y|\lambda) = d^{m-1} \sum_{a=0}^{d-1} (-1)^a \chi(a) {}_H B_m \left(\frac{a+x}{d}, y \middle| \frac{\lambda}{d} \right). \quad \square$$

Remark. For $y = 0$ in Theorem 3.2, a familiar looking statement of Kim et al. [14, p. 1276 (Theorem 2.4)] follows:

Corollary 3.1. *Let $d \in \mathbb{N}$. We have, for $m \geq 0$*

$$B_{m,\chi}(x|\lambda) = d^{m-1} \sum_{a=0}^{d-1} \chi(a) B_m \left(\frac{a+x}{d} \middle| \frac{\lambda}{d} \right).$$

Theorem 3.3. *We have, for $m \geq 0$*

$$(43) \quad {}_H B_{m,\chi}(x, y|\lambda) = \sum_{l=0}^{m-2k} \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \binom{m-2k}{l} \left(\frac{x}{\lambda} \right)_{m-l-2k} \left(\frac{y}{\lambda} \right)_k B_{l,\chi}(\lambda) \frac{\lambda^{m-2k-l} m!}{(m-2k)! k!}.$$

Proof. From (38), we evaluate

$$\begin{aligned} & \sum_{m=0}^{\infty} {}_H B_{m,\chi}(x, y|\lambda) \frac{t^m}{m!} \\ &= \left(\int_X \chi(a) (1+\lambda t)^{\frac{x-1}{\lambda}} d\mu_0(x_1) \right) (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \frac{1}{(1+\lambda t)^{\frac{x}{\lambda}} - 1} \sum_{a=0}^{d-1} (1+\lambda t)^{\frac{a}{\lambda}} \chi(a) \left(\sum_{m=0}^{\infty} \left(\frac{x}{\lambda} \right)_m \frac{(\lambda t)^m}{m!} \right) \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda} \right)_k \frac{(\lambda t^2)^k}{k!} \right) \\ &= \left(\sum_{l=0}^{\infty} B_{l,\chi}(\lambda) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \lambda^m \left(\frac{x}{\lambda} \right)_m \frac{t^m}{m!} \right) \left(\sum_{k=0}^{\infty} \lambda^k \left(\frac{y}{\lambda} \right)_k \frac{t^{2k}}{k!} \right). \end{aligned}$$

Coefficients of $\frac{t^m}{m!}$ on comparison, provides the expected result of Theorem 3.3. \square

Theorem 3.4. *We have, for $m \geq 0$*

$$(44) \quad {}_H B_{m,\chi}(x, y|\lambda) = \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \sum_{l=0}^{m-2k} \left(\frac{y}{\lambda} \right)_k S_1(m-2k, l) B_{l,\chi}(x) \frac{\lambda^{m-k-l} m!}{(m-2k)! k!},$$

where $B_{m,\chi}(x)$ is the generalized Bernoulli polynomial defined in (40).

Proof. We write, from (38)

$$\begin{aligned} & \sum_{m=0}^{\infty} {}_H B_{m,\chi}(x, y|\lambda) \frac{t^m}{m!} \\ &= (1+\lambda t^2)^{\frac{y}{\lambda}} \int_X \chi(x_1) (1+\lambda t)^{\frac{x+x_1}{\lambda}} d\mu_0(x_1) \end{aligned}$$

$$\begin{aligned}
&= \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda} \right)_k \frac{(\lambda t^2)^k}{k!} \right) \sum_{m=0}^{\infty} \lambda^m \int_X \chi(x_1) \left(\frac{x+x_1}{\lambda} \right)_m d\mu_0(x_1) \frac{t^m}{m!} \\
&= \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda} \right)_k \frac{(\lambda t^2)^k}{k!} \right) \sum_{m=0}^{\infty} \lambda^m \sum_{l=0}^m S_1(m, l) \int_X \chi(x_1) \left(\frac{x+x_1}{\lambda} \right)^l d\mu_0(x_1) \frac{t^m}{m!} \\
&= \left(\sum_{k=0}^{\infty} \left(\frac{y}{\lambda} \right)_k \frac{(\lambda t^2)^k}{k!} \right) \sum_{m=0}^{\infty} \sum_{l=0}^m S_1(m, l) B_{l, \chi}(x) \lambda^{m-l} \frac{t^m}{m!}.
\end{aligned}$$

Finally, the expected result of Theorem 3.4 is achieved on equating the coefficients of $\frac{t^m}{m!}$. \square

Remark. For $y = 0$ in Theorem 3.4, a familiar looking statement of Kim et al. [14, p. 1277 (Corollary 2.5)] follows:

Corollary 3.2. *We have, for $n \geq 0$*

$$B_{m, \chi}(x|\lambda) = \sum_{l=0}^m S_1(m, l) \lambda^{m-l} B_{l, \chi}(x).$$

4. Identities of symmetry for the degenerate Hermite-Bernoulli polynomials

Let $\lambda, t \in \mathbb{C}_p$ so that $|\lambda t|_p < p^{-\frac{1}{p-1}}$. For $\mu_1, \mu_2 \in \mathbb{N}$, one can define with ease

$$\begin{aligned}
&\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{\mu_1 x_1}{\lambda}} (1 + \lambda t)^{\frac{\mu_1 \mu_2 x}{\lambda}} (1 + \lambda t^2)^{\frac{\mu_1^2 \mu_2^2 y}{\lambda}} d\mu_0(x_1) \\
(45) \quad &= \frac{\mu_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_1}{\lambda}} - 1} (1 + \lambda t)^{\frac{\mu_1 \mu_2 x}{\lambda}} (1 + \lambda t^2)^{\frac{\mu_1^2 \mu_2^2 y}{\lambda}} \\
&= \sum_{m=0}^{\infty} {}_H B_{m, \frac{\lambda}{\mu_1}}(\mu_2 x, \mu_2^2 y) \frac{(\mu_1 t)^m}{m!}
\end{aligned}$$

and

$$\begin{aligned}
(46) \quad &\frac{\mu_1 \mu_2 \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x)}{\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{\mu_1 \mu_2 x}{\lambda}} d\mu_0(x)} = \frac{(1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} - 1}}{(1 + \lambda t)^{\frac{\mu_2}{\lambda} - 1}} \\
&= \sum_{k=0}^{\infty} S_k \left(\mu_1 - 1 \middle| \frac{\lambda}{\mu_2} \right) \frac{(\mu_2 t)^k}{k!}. \quad (\text{see [8]})
\end{aligned}$$

Note that $\lim_{\lambda \rightarrow 0} S_k(n|\lambda) = S_k(n)$.

Theorem 4.1. *For $\mu_1, \mu_2 \in \mathbb{N}$, the below symmetry identity holds well:*

$$\sum_{j=0}^m \binom{m}{j} \mu_1^{m-j-1} \mu_2^j \sum_{k=0}^j \binom{j}{k} {}_H B_{m-j, \frac{\lambda}{\mu_1}}(\mu_2 x, \mu_2^2 z)$$

$$\begin{aligned}
& \times S_k \left(\mu_1 - 1 \middle| \frac{\lambda}{2} \right) B_{j-k, \frac{\lambda}{\mu_2}}(\mu_1 y) \\
(47) \quad & = \sum_{j=0}^m \binom{m}{j} \mu_2^{m-j-1} \mu_1^j \sum_{k=0}^j \binom{j}{k} {}_H B_{m-j, \frac{\lambda}{\mu_2}}(\mu_1 x, \mu_1^2 z) \\
& \times S_k \left(\mu_2 - 1 \middle| \frac{\lambda}{\mu_1} \right) B_{j-k, \frac{\lambda}{\mu_1}}(\mu_2 y).
\end{aligned}$$

Proof. We consider

$$\begin{aligned}
I(\mu_1, \mu_2 | \lambda) & = \left(\frac{\mu_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_1}{\lambda}} - 1} \right) \frac{(1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda}(x+y)} (1 + \lambda t^2)^{\frac{\mu_1^2 \mu_2^2}{\lambda} z}}{\mu_1 \mu_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}} \\
& \times \left(\frac{\mu_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_2}{\lambda}} - 1} \right) \left((1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda}} - 1 \right)
\end{aligned}$$

or

$$I(\mu_1, \mu_2) = \frac{\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{\mu_1}{\lambda}(x_1 + \mu_2 x)} d\mu_0(x_1)}{\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} x} d\mu_0(x)} \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{\mu_2}{\lambda}(x_1 + \mu_1 y)} d\mu_0(x_1),$$

where $I(\mu_1, \mu_2 | \lambda)$ is symmetric in μ_1 and μ_2 .

Now, using (45) and (46) together with the symmetry of $I(\mu_1, \mu_2 | \lambda)$, we get

$$\begin{aligned}
I(\mu_1, \mu_2 | \lambda) & = \left(\sum_{m=0}^{\infty} {}_H B_{m, \frac{\lambda}{\mu_1}}(\mu_2 x, \mu_2^2 z) \frac{\mu_1^m t^m}{m!} \right) \left(\sum_{k=0}^{\infty} S_k \left(\mu_1 - 1 \middle| \frac{\lambda}{\mu_2} \right) \frac{\mu_2^k t^k}{k!} \right) \\
& \times \left(\sum_{j=0}^{\infty} B_{j, \frac{\lambda}{\mu_2}}(\mu_1 y) \frac{\mu_2^j t^j}{j!} \right) \cdot \frac{1}{\mu_1} \\
I(\mu_1, \mu_2 | \lambda) & = \sum_{m=0}^{\infty} \left(\sum_{j=0}^m \binom{m}{j} \mu_1^{m-j-1} \mu_2^j \sum_{k=0}^j \binom{j}{k} {}_H B_{m-j, \frac{\lambda}{\mu_1}}(\mu_2 x, \mu_2^2 z) \right. \\
& \left. \times S_k \left(\mu_1 - 1 \middle| \frac{\lambda}{\mu_2} \right) B_{j-k, \frac{\lambda}{\mu_2}}(\mu_1 y) \right) \frac{t^m}{m!}.
\end{aligned}$$

A similar calculation yields

$$\begin{aligned}
I(\mu_1, \mu_2 | \lambda) & = \sum_{m=0}^{\infty} \left(\sum_{j=0}^m \binom{m}{j} \mu_2^{m-j-1} \mu_1^j \sum_{k=0}^j \binom{j}{k} {}_H B_{m-j, \frac{\lambda}{\mu_2}}(\mu_1 x, \mu_1^2 z) \right. \\
& \left. \times S_k \left(\mu_2 - 1 \middle| \frac{\lambda}{\mu_1} \right) B_{j-k, \frac{\lambda}{\mu_1}}(\mu_2 y) \right) \frac{t^m}{m!}.
\end{aligned}$$

Comparing the coefficient of $\frac{t^m}{m!}$ in last two equations, the required symmetry identity is constructed. \square

Remark. For $z = 0$ in Theorem 4.1, the below corollary naturally follows:

Corollary 4.1. *We have, for $m \geq 0$*

$$\begin{aligned} & \sum_{j=0}^m \binom{m}{j} \mu_1^{m-j-1} \mu_2^j \sum_{k=0}^j \binom{j}{k} B_{m-j, \frac{\lambda}{\mu_1}}(\mu_2 x) S_k \left(\mu_1 - 1 \middle| \frac{\lambda}{\mu_2} \right) B_{j-k, \frac{\lambda}{\mu_2}}(\mu_1 y) \\ &= \sum_{j=0}^m \binom{m}{j} \mu_2^{m-j-1} \mu_1^j \sum_{k=0}^j \binom{j}{k} B_{m-j, \frac{\lambda}{\mu_2}}(\mu_1 x) S_k \left(\mu_2 - 1 \middle| \frac{\lambda}{\mu_1} \right) B_{j-k, \frac{\lambda}{\mu_1}}(\mu_2 y). \end{aligned}$$

Remark. For $y = 0$ in Corollary 4.1, another corollary naturally follows:

Corollary 4.2. *We have, for $m \geq 0$*

$$\begin{aligned} & \sum_{j=0}^m \binom{m}{j} \mu_1^{m-j-1} \mu_2^j \sum_{k=0}^j \binom{j}{k} B_{m-j, \frac{\lambda}{\mu_1}}(\mu_2 x) S_k \left(\mu_1 - 1 \middle| \frac{\lambda}{\mu_2} \right) \\ &= \sum_{j=0}^m \binom{m}{j} \mu_2^{m-j-1} \mu_1^j \sum_{k=0}^j \binom{j}{k} B_{m-j, \frac{\lambda}{\mu_2}}(\mu_1 x) S_k \left(\mu_2 - 1 \middle| \frac{\lambda}{\mu_1} \right). \end{aligned}$$

Remark. Further, if we take $\mu_2 = 1$ in Corollary 4.2, then we get the following equality:

Corollary 4.3. *We have, for $\mu_1 \in \mathbb{N}$*

$$B_{m, \lambda}(\mu_1 x) = \sum_{j=0}^m \binom{m}{j} B_{m-j, \frac{\lambda}{\mu_1}}(x) S_j(\mu_1 - 1 | \lambda).$$

Theorem 4.2. *We have, for $\mu_1, \mu_2 \in \mathbb{N}$*

$$\begin{aligned} (48) \quad & \sum_{l=0}^m \binom{m}{l} \mu_1^{l-1} \mu_2^{m-l} B_{m-l, \frac{\lambda}{\mu_2}}(\mu_1 y) \sum_{i=0}^{\mu_1-1} {}_H B_{l, \frac{\lambda}{\mu_1}} \left(\mu_2 x + \frac{\mu_2}{\mu_1} i, \mu_2^2 z \right) \\ &= \sum_{l=0}^m \binom{m}{l} \mu_2^{l-1} \mu_1^{m-l} B_{m-l, \frac{\lambda}{\mu_1}}(\mu_2 y) \sum_{i=0}^{\mu_2-1} {}_H B_{l, \frac{\lambda}{\mu_2}} \left(\mu_1 x + \frac{\mu_1}{\mu_2} i, \mu_1^2 z \right). \end{aligned}$$

Proof. We consider

$$\begin{aligned} I(\mu_1, \mu_2 | \lambda) &= \left(\frac{\mu_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_1}{\lambda}} - 1} \right) (1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} (x+y)} (1 + \lambda t^2)^{\frac{\mu_1^2 \mu_2^2}{\lambda} z} \\ &\quad \times \frac{(1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda}} - 1}{(1 + \lambda t)^{\frac{\mu_2}{\lambda} z} - 1} \left(\frac{\mu_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_2}{\lambda}} - 1} \right) \frac{1}{\mu_1} \\ &= \frac{1}{\mu_1} \left(\frac{\mu_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_1}{\lambda}} - 1} \right) (1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} x} (1 + \lambda t^2)^{\frac{\mu_1^2 \mu_2^2}{\lambda} z} \\ &\quad \times \left(\sum_{i=0}^{\mu_1-1} (1 + \lambda t)^{\frac{\mu_2}{\lambda} i} \right) \left(\frac{\mu_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_2}{\lambda}} - 1} \right) (1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} y} \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{\mu_1} \left(\frac{\mu_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_1}{\lambda}} - 1} \right) \sum_{i=0}^{\mu_1-1} (1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} x + \frac{\mu_2}{\lambda} i} (1 + \lambda t^2)^{\frac{\mu_1^2 \mu_2^2}{\lambda} z} \\
&\quad \times \left(\frac{\mu_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mu_2}{\lambda}} - 1} \right) (1 + \lambda t)^{\frac{\mu_1 \mu_2}{\lambda} y} \\
&= \frac{1}{\mu_1} \left(\sum_{i=0}^{\mu_1-1} \sum_{l=0}^{\infty} {}_H B_{l, \frac{\lambda}{\mu_1}} \left(\mu_2 x + \frac{\mu_2}{\mu_1} i, \mu_2^2 z \right) \mu_1^l \frac{t^l}{l!} \right) \\
&\quad \times \left(\sum_{m=0}^{\infty} B_{m, \frac{\lambda}{\mu_2}}(\mu_1 y) \mu_2^m \frac{t^m}{m!} \right), \\
I(\mu_1, \mu_2 | \lambda) &= \sum_{m=0}^{\infty} \left(\sum_{l=0}^m \binom{m}{l} \mu_1^{l-1} \mu_2^{m-l} B_{m-l, \frac{\lambda}{\mu_2}}(\mu_1 y) \right. \\
&\quad \left. \times \sum_{i=0}^{\mu_1-1} {}_H B_{l, \frac{\lambda}{\mu_1}} \left(\mu_2 x + \frac{\mu_2}{\mu_1} i, \mu_2^2 z \right) \right) \frac{t^m}{m!}.
\end{aligned}$$

A similar calculation yields

$$\begin{aligned}
I(\mu_1, \mu_2 | \lambda) &= \sum_{m=0}^{\infty} \left(\sum_{l=0}^m \binom{m}{l} \mu_2^{l-1} \mu_1^{m-l} B_{m-l, \frac{\lambda}{\mu_1}}(\mu_2 y) \right. \\
&\quad \left. \times \sum_{i=0}^{\mu_2-1} {}_H B_{l, \frac{\lambda}{\mu_2}} \left(\mu_1 x + \frac{\mu_1}{\mu_2} i, \mu_1^2 z \right) \right) \frac{t^m}{m!}.
\end{aligned}$$

Comparing the coefficient of $\frac{t^m}{m!}$ in last two equations, the required symmetry identity is constructed. \square

Remark. For $z = 0$ in Theorem 4.2, the below corollary naturally follows:

Corollary 4.4. *We have, for $m \geq 0$*

$$\begin{aligned}
&\sum_{l=0}^m \binom{m}{l} \mu_1^{l-1} \mu_2^{m-l} B_{m-l, \frac{\lambda}{\mu_2}}(\mu_1 y) \sum_{i=0}^{\mu_1-1} B_{l, \frac{\lambda}{\mu_1}} \left(\mu_2 x + \frac{\mu_2}{\mu_1} i \right) \\
&= \sum_{l=0}^m \binom{m}{l} \mu_2^{l-1} \mu_1^{m-l} B_{m-l, \frac{\lambda}{\mu_1}}(\mu_2 y) \sum_{i=0}^{\mu_2-1} B_{l, \frac{\lambda}{\mu_2}} \left(\mu_1 x + \frac{\mu_1}{\mu_2} i \right).
\end{aligned}$$

Remark. Further for $y = 0$ in Corollary 4.4, another corollary naturally follows:

Corollary 4.5. *We have, for $\mu_1, \mu_2 \in \mathbb{N}$*

$$\mu_1^{l-1} \sum_{i=0}^{\mu_1-1} B_{l, \frac{\lambda}{\mu_1}} \left(\mu_2 x + \frac{\mu_2}{\mu_1} i \right) = \mu_2^{l-1} \sum_{i=0}^{\mu_2-1} B_{l, \frac{\lambda}{\mu_2}} \left(\mu_1 x + \frac{\mu_1}{\mu_2} i \right).$$

Remark. Let $\mu_2 = 1$ in above corollary, then it reduces to the equality.

Corollary 4.6. *We have, for $m \geq 0$*

$$B_{l,\lambda}(\mu_1 x) = \mu_1^{l-1} \sum_{i=0}^{\mu_1-1} B_{l,\frac{\lambda}{\mu_1}} \left(x + \frac{1}{\mu_1} i \right).$$

Concluding remarks. In this paper, we have approached the degenerate Hermite-Bernoulli polynomials in the context of p -adic invariant integral on \mathbb{Z}_p . The preliminary steps towards accomplishment of results characterized in this paper are of common nature and are capable of extending to newly defined families of special polynomials.

Acknowledgement. We express our gratitude to the referee for his valuable comments. We also thank Integral University for providing us the manuscript number IU/R and D/2018-MCN000106.

References

- [1] E. T. Bell, *Exponential polynomials*, Ann. of Math. (2) **35** (1934), no. 2, 258–277.
- [2] L. Carlitz, *Some congruences for the Bernoulli numbers*, Amer. J. Math. **75** (1953), 163–172.
- [3] ———, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51–88.
- [4] G. Dattoli, C. Cesarano, and S. Lorenzutta, *Bernoulli numbers and polynomials from a more general point of view*, Rend. Mat. Appl. (7) **22** (2002), 193–202.
- [5] G. Dattoli, S. Lorenzutta, and C. Cesarano, *Finite sums and generalized forms of Bernoulli polynomials*, Rend. Mat. Appl. (7) **19** (1999), no. 3, 385–391.
- [6] W. A. Khan, *Degenerate Hermite-Bernoulli numbers and polynomials of the second kind*, Prespacetime J. **9** (2016), no. 7, 1297–1305.
- [7] T. K. Kim, *Barnes' type multiple degenerate Bernoulli and Euler polynomials*, Appl. Math. Comput. **258** (2015), 556–564.
- [8] T. Kim and D. V. Dolgy *On the identities of symmetry for degenerate Bernoulli polynomials of order r* , Adv. Stud. Contemp. Math. **25** (2015), no. 4, 457–462.
- [9] D. S. Kim, T. Dolgy, and D. V. Komatsu, *Barnes type degenerate Bernoulli polynomials*, Adv. Stud. Contemp. Math. **25** (2015), no. 1, 121–146.
- [10] D. S. Kim and T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse) **7** (2013), no. 117-120, 5969–5976.
- [11] ———, *Some identities of degenerate Euler polynomials arising from p -adic fermionic integrals on \mathbb{Z}_p* , Integral Transforms Spec. Funct. **26** (2015), no. 4, 295–302.
- [12] D. S. Kim, T. Kim, and D. V. Dolgy, *A note on degenerate Bernoulli numbers and polynomials associated with p -adic invariant integral on \mathbb{Z}_p* , Appl. Math. Comput. **259** (2015), 198–204.
- [13] T. Kim, D. S. Kim, and H.-I. Kwon, *Some identities relating to degenerate Bernoulli polynomials*, Filomat **30** (2016), no. 4, 905–912.
- [14] T. Kim and J. J. Seo, *A note on partially degenerate Bernoulli numbers and polynomials*, J. Math. Anal. **6** (2015), no. 5, 1–6.
- [15] D. S. Kim, T. Kim, H. I. Kwon, and J. J. Seo, *Daehee polynomials with q -parameters*, Adv. Studies Theor. Phys. **8** (2014), no. 13, 561–569.
- [16] D. S. Kim, T. Kim, S. H. Lee, and J. J. Seo, *A note on the lambda-Daehee polynomials*, Int. J. Math. Anal. (Ruse) **7** (2013), no. 61-64, 3069–3080.
- [17] M. A. Pathan and W. A. Khan, *Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials*, Mediterr. J. Math. **12** (2015), no. 3, 679–695.

- [18] ———, *A new class of generalized polynomials associated with Hermite and Euler polynomials*, *Mediterr. J. Math.* **13** (2016), no. 3, 913–928.
- [19] K. Shiratani, *Kummer's congruence for generalized Bernoulli numbers and its application*, *Mem. Fac. Sci. Kyushu Univ. Ser. A* **26** (1972), 119–138.
- [20] P. T. Young, *Degenerate Bernoulli polynomials, generalized factorial sums, and their applications*, *J. Number Theory* **128** (2008), no. 4, 738–758.

HIBA HAROON
DEPARTMENT OF MATHEMATICS
FACULTY OF SCIENCE, INTEGRAL UNIVERSITY
LUCKNOW-226026, INDIA
Email address: hibaharoon786@gmail.com

WASEEM AHMAD KHAN
DEPARTMENT OF MATHEMATICS
FACULTY OF SCIENCE
INTEGRAL UNIVERSITY
LUCKNOW-226026, INDIA
Email address: waseem08_khan@rediffmail.com